OFEXROH#R

O EIFEICEIT BIEIE
HERETFET%S (ML BHM. %)
_ Fri28EE Fr2oE® | M A
i 1 48857 (3.0)| 52,643 (3.1) 3,786
T ,HJi 1 ,E? ﬁ 1,662,462 (96.1)|1,623,999 (96.2) 61,536
z ) 1t ) g £ 1,292  (0.1) 1,387  (0.1) 94

= 1,612612 (99.2) 1,678,030 (99.4) 65417
= i L & - 13383 (0.8) 10926  (0.6) A 2,456
= 5%t 1,625,996 (100.0) 1,688,956 (100.0) 62,960

(F) 1. R@MEFe=4EFe+LEle+iFETe RS
2. Efftre=rire+EHES

3. ( AEHRELTT.
(BAL: BAM. %)
_ Fri2BEE Fo2om® | M H
HA 1,573,535 (100.0)| 1,629,901 (100.0) 56,366
& ha i *U e ﬁﬁ 1,673,634 (100.0)| 1,629,901 (100.0) 56,366
z= 2 el F s 213 0 (0.0) 0 (0.0) 0
G 1. BELAEDE BABCEEEECONEIRET 3ERESTT,
2. TESHTHE. BABEROTSLHOE(LEU TSN TR T 3EHRES TT,
3 () RIHBEETT.

IrEERITE%RS (8 - BHM. %)
x5 | ¥messm Fo2oEE | M W
= 8 1591282 (97.5)| 1,653,195 (97.6) 61,912
= 4 40,211 (2.5) 40,002 (2.4) A 209

it Val N H (2 172 (0.0) 137 (0.0) A 35
* i 53 £ 10,000 (0.8) 10,000 (0.8) -
= D fth 30,039 (1.8) 29,865 (1.8) N 174
=1 £t [ 1,631,494 (100.0) | 1,693,197 (100.0) 61,703
GH) () ARBRETT,
O EHEICRATIEE
ﬂEHUﬁH:Iﬁ:Fi‘EJ?%m (AL : BHM)
F = NT7
b % = ﬁ 176,315 190,862 14,547
E| & = i 49,195 47,392 A~ 01,803
Z| 5| F i 61 46 A 15
a8 st 226,370 239,021 12,651
EH::'%@%*U%#EUW?R?%E (8f: BHM. %)
[ an) 162,451 (69.1)| 175,097 (71.7) 12,645
z= §D F *U ﬁ H 72,708 (30.9) 69,235 (28.3) N 3,473
a £t 235,159 (100.0) | 244,332 (100.0) 9,172
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() ( )ARIERLETY,
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